CHEAIZIE ISL A|2|=  LARGE-SIZE ISL SERIES SAl2IE ISL A|2|X=  LARGE-SIZE ISL SERIES

LH-'?— TZELE  Inside Structur awings o ificati d Others

XL [nside Structure Drawings

A Type 22128 Oiless Type Mot Low-Hydraulic Type
A2 Fluid 27| Air FYURER Hyd rmulic Working Oil
HELIOI2 Bearing pressure 16kgf/cn
®125-0160 =g Z[UAH20f2 Max. Working Pressur 9.9kgf/c
@) AFALE Min. Working Pressure 0.5kgf/cr Tkgf/o
@) AT ASAL Woking Pidn Speed 50~500mm/s 0.5~200mm/s
DIOD ®) )@ EE)@ 24 Cushion M Cushion 242 None
392 U ARH2E Ambent & Woking O femrature -10~70°C
4 - LIAKZX} Screw Tolerance KS2& 2nd KS Level
K e @ #732019 8185 Allowance of Stoke Lengh ~250 "1° 250~1,000 5* 1,001~1,500 °°
s ) Basic Type, Foot Ty pe, Rod-sic Fange Type, Head-side Flange Type
‘ } FNE Quppartro Type of iting SwkSe | gipgiy mrenciCLEVIS Ty pe, Doube Tiread CLEVISType, Trumion Type
] HE&E Parts
$180-9300 J =] & Al P Rod-sde Head-sde Singe Thread | Dowble Thread| Center-side
k| $I-|-XIKI§-.SlpporingTypeofHtiruSufa:e Basic Type| Foot Type Range Type Range Type CLEVIS Ty pe CLEVIS Type | Tumion Type
o A f _ — - - - -
oY @ @ JErE S 3HH AL T Pinfor CLEVIS .
] = Bisc Monkdpars | 2 MEHAE Rod-end Nut . . . . . . .
xom 1MYEEUE Single Knuckle Joint . . . . . 3 .
== MHZE9E Dble Knucke dint
Special Order | “=122c= uble Knucke i . L] . ] . . .
ﬂg&zadm ] . L] L] [ ] L]
Hl 20 X XH"' [=1] i|—1 X9
= 2T = 2 x L TT7 T
=3H &
HEZHHE Standard Stroke Table Working Temperature of Bellows Materials
N 3 ot = ; PRECE) ; :
TR SN PR ==rer ey -D(mm) | EZ #H Standard Stroke m;’gﬁ;‘%‘fﬂe 7I§nJoti|on M nm_zla_:r:)l?;s 4390 Haz:zlglenmmnehre
=t AE Parts Lis i AE Packing Lis Nylol
s =) 9 125 50,100, 150,200,250,300 1000 K Neoprene Coss 110°C
140 50,100,150,200,250,300 1000 -
No Name Materials Remarks Nl Name | I-D(mm) 150 50,100,150,200,250,300 1000 Al Type
AFCC"'DC g:gig;gg "4l 125 [ 140 150 160 [ 180 [ 200 [ 250 [ 300 :gg :glgg:gg;ggg:gzgg :igg Type Working[ Packing | FD(mm)
1 | ROD COVER ~ ) -
= . :200,250, ISL oil Dowtle-act i
5541 2250~300 298 0 Supply Type 200 50,100,150,200,250,300 1600 Sep e 0165.0000.0280.0300
— ISLN | NoOil Sppy Dowle-ecing| Special OETROET
» | Heao cover AC4C 125~@160 250 50,100,150,200,250,300,400 1800
SS41 ©180~@300 18 | PISTONPACKING | |APTIS|APTS0|APTA0|APTS0|APTES| A185 | AP235 | AP28S 300 50,100,150,200,250,300,400 2000 ISLL | Low-Hydauic| Doudeecing| Spedial | 9125.0140.0150,0160
s | Tuee AB063 2125-0160 19 | TUBEOANG | N |95 250 %50 | 2150 | 2is0 | 2200 | 2sb0 | 2300
STKM13C ©180~0300 20 |CUSHONPACKNG | [PCs50|PCs50]PCsss|Pesss|Peseo|PCse|pesTs|Pesso
ACA4C ©125~2160 21 | RODPACKING DAP35|DRP35] DAP40 | DRP40|DRP45 | DRP50|DRPSO [ DRPT0) = = ;
4 | pISTON B XX 27 2EE EH Supporting Parts No.
Ss4 ©180~@300 22 | 8USHO-RNG AP56|AP56|AP58|AP58|APE3|APE7|APBO|APSS =R = bo 9
5 | ROD 5450 23 | NDDLEO-RIG Po [ P9 [ P9 | Po[Po|PafPa]Pe 1Dmm
125 140 150 160 180 200 250 300
6 | SUBBLOCK FC20 24 | WAGNET | R |g125|@140]@150[@160] - - - Lotend
7 | susH DU 25 | T 526 526|530 | 530 | 535520 | 528 [ 550 TES Foot Type | ISL-LB 125 | ISL-LB 140 | ISL-LB 150 | ISL-LB 160 | ISL-LB 180 | ISL-LB 200 | ISL-LB 250 | ISL-LB 300
8 | CUSHION NIDDLE BSBM ZR|3 Flange Type| ISL-F 125 | ISL-F 140 | ISL-F 150 | ISL-F 160 | ISL-F 180 | ISL-F 200 | ISL-F 250 | ISL-F 300
9 | mEROD SS41 o303 O 1MZHEIA] Thread CEVIS | ISL-CA 125 | ISL-CA 140 | ISL-CA 150 | ISL-CA 160 | ISL-CA 180 | ISL-CA 200 | ISL-CA 250 | ISL-CA 300
10| SPRING WASHER SS41 .
11 | TIEROD NUT 520C 26 | WEARING | AC | 38125 | 530140 | S3Wi50 | SBWtGn | SButan | sawaon | sames) | saua 2W3HH1AY 2Thread CEVIS| 1SL-CB 125 | ISL-CB 140 | ISL-CB 150 | ISL-CB 160 | ISL-CB 180 | ISL-CB 200 | ISL-CB 250 | ISL-CB 300
12 SUB BLOCK BOLT SCM4 PSD | PSD | PSD | PSD | DxP | DxP | DxP | DXP
27 | PISTON PACKING [NBR
13 " WASHER SCM4 125 140 150 160 180 | 200 | 250 | 300
14 | CUSHION RING(R)| sS4t "
oot ; MC} 232 =
15 | GUSHION NG Ssa1 XMedd Low Hydraulic Type MEt 27 FH Lot—end No.
16 | ROD NUT Ss841 oxp | Oxp | Dxp | Dxp [Dmm) 125 140 150,160 180 200 250 300
T GUSHION T 300 | 28 ‘PISTONPACK\NG‘NBR OXP | OXP | OXP | OXP lotend !
u 26,2728 ojolo] HZS ToH T e 182 A 9) 1MZHHA! Thread CEVIS|  ISL-1251 ISL-1401 | ISL-150,160 1 | ISL-1801 1SL-200 1 1SL-250 1 ISL-300
Packing except 26,27.28 is same with Oil Supply Type (except 18). A 2ThreadClEVI§ ISL-125Y ISL-140Y | ISL-150,160Y |  ISL-180Y ISL-200Y ISL-250Y ISL-300Y

SO AT HES 156-1147]

) _A Tel. 051) 316-0224(f%) .
DSPA ()X —RHE o osnsioaos DSPA ()X —DF
E—mail. sungil0224@hanmail.net


DHAhn
직선


DHAhn



DHAhn



DHAhn




CHEIAIZIE ISL A|2]Z  LARGE-SIZE ISL SERIES CHAI2IE] ISL AI2I=  LARGE-SIZE IsL SERIES

?EI I:Il_fg( FA) General Type(FA)

Oaltnl_l'g(FB) General Type(FB)

#x|™ (FA) Rod-side Flange Type(FA)

B QOil Supply Type ISL-FA / Oiless Type ISL N-FA / Low Hydraulic Type ISL L-FA

et FT 4-¢FD = FT 4-BFD
¢ | D fo o | D p
" B | |@ © « & $|
\ & &|.r B \ @ & ﬁﬁ
e 2 o O 294 7 o o 5
8| © \A [N ,—\\ sl 8 ® \A o [
D J qo &) aQ N .
#
C i C [—2-P $ Pany
A = @ N A gl V
N
© W Lw ¥
H_ W W T L+Stroke —
T LsStroke £Y TL+Stroke £y
TL+Stroke
k[ tnit:mm =2l wnit:mm
D(mm) Stroke Range | C | A | B | OC | @D |@EA| @FD | FT | FX | FY | FZ | H KK L |P(PT) -D(mm) Stroke Range | C | A | B | OC | @D |QEA| QEB|QFD | FT | FX | FY | FZ | H KK L |P(PT)
125 ~1000 47 | 50 | 15 | 115 35 | 59 | 19 | 14 | 190 | 100 | 230 | 43 | M30x1.5 | 98 | 1/2 125 ~1000 47 |50 [ 15[ 115]35] 59 | 90 [ 19 | 14 [ 190 ] 100 | 230 | 43 | M30x1.5 | 98 | 1/2
140 ~1000 47 1 50 | 15 | 128 35 | 59 | 19 | 20 | 212 | 112 | 255 | 43 | M30x1.5 | 98 | 1/2 140 ~1000 47 |50 [ 15[ 12835 ] 59 | 90 [ 19 [ 20 [ 212 112 ] 255 43 | M30x1.5 | 98 | 1/2
150 ~1200 53 | 56 | 17 | 132 | 40 | 59 | 19 | 20 | 228 | 115 | 265 | 43 | M36X1.5 | 106 | 3/4 150 ~1200 53 |56 | 17 [ 13240 | 59 | 90 [ 19 [ 20 [ 228 | 115 | 265 | 43 | M36X1.5 [ 106 | 3/4
160 ~1200 53 | 56 | 17 | 144 | 40 | 59 19 20 | 236 | 118 | 275 | 43 M36X1.5 | 106 | 3/4 160 ~1200 53 | 56 | 17 | 144 | 40 | 59 | 90 19 | 20 | 236 | 118 | 275 | 43 | M36X1.5 | 106 | 3/4
180 ~1400 60 | 63 | 20 | 162 | 45 | 70 | 24 | 25 | 265 | 132 | 320 | 48 | M40X1.5 | 111 | a/4 180 ~1400 60 | 63|20 [ 162 ] 45| 70 [ 115] 24 [ 25 [ 265 132 [ 320 | 48 | M40X1.5 [111] 3/4
200 ~1600 80 | 63 | 20 | 182 | 50 | 74 | 24 | 25 | 280 | 150 | 335 | 48 | M45x1.5 | 111 | 3/4 200 ~1600 60 | 63|20 [ 18250 | 74 [ 115] 24 | 25 [ 280 ] 150 | 335 | 48 | M45X1.5 [111] 3/4
250 ~1800 67 | 71 | 25 | 225 | 60 | 96 29 30 | 355 | 180 | 420 | 60 M56X2.0 | 141 1 250 ~1800 67 | 71 | 25| 225 | 60 | 96 | 140 | 29 | 30 | 355 | 180 | 420 | 60 | M56X2.0 | 141 1
300 ~2000 76 | 80 | 30 | 270 ] 70 | 96 | 33 | 30 | 400 | 212 | 475 | 60 | Me4x2.0 | 146 | 1 300 ~2000 76 [ 80 [ 30 [270 ] 70 | 96 [ 140 [ 33 | 30 [ 400 [ 212|475 [ 60 | M64x2.0 [146] 1
I-D(mm) N oT | T | TL| W -D(mm) N TTL|w
125 M14X1.5 145 [ 110 [ 235 | 35 125 M14X1.5 110 | 222 | 35
140 M14X1.5 161 [ 110 [235] 35 140 M14X1.5 110 [ 228 | 35
150 M16X1.5 170 [ 120 [256.5] 39 150 M16X1.5 120 | 246 | 39
160 M16X1.5 184 [ 120 [256.5] 39 160 M16X1.5 120 | 246 | 39
180 M18X1.5 204 | 135 | 281 | 39 180 M18X1.5 185 | 271 | 39
200 M20X1.5 226 | 135 | 281 | 39 200 M20X1.5 135 | 271 | 39
250 M24X1.5 277 | 160 [342.5] 49 250 M24X1.5 160 | 331 | 49
300 M30X1.5 330 | 175 [372.5] 49 300 M30X1.5 175351 | 49

SAZOA| AT UMS 156-118K]
l'Sl"\ A Tel. 051; 316-0224(ft)
— Fax. 051) 316-6006
RIR—EF oo DSPA (35—
E-mail. sungil0224@hanmail.net -


USER
사각형


DHAhn



DHAhn



DHAhn




SAl2IH ISL Al2|=X Al2IH ISL Al2|=
CHEAEIC X LARGE-SIZE ISL SERIES CHAIZIC X LARGE-SIZE ISL SERIES
Hn_aé C) General Type(TC) E‘?‘ Parts-end
ME| ER|LI2S(TC) Center Trunnion Type(TC) 1M {2 ZQ0E Single-Thread Knuckle Joint
SRfunit:mm
B Qil Supply Type ISL-TC / Oiless Type ISLN-TC / Low Hydraulic Type ISL L-TC
FD(mm) | @€ | F KK L | ono NX R | U
125 46 | 54 | M30X15 | 100 259" | 32 % | 27 | 38
140 48 | 54 | M30X15 | 105] 289" | 363, | 30 | 89
LZ+1/2 Stroke ‘ ary 150,160 | 55 | 60 M36X1.5 [ 110 32°5° [ 405, [ 34 | 39
\ -y 180 70 | 67 M40X1.5 | 125 | 406" | 50 §; |42.5] 44
} s —— 200 70 | 67 | M45X1.5 | 125] 40°5° | 50 & |42.5] 44
—A | = @ @ 250 86 | 75.5 | M56X2 | 160 | 50 % | 63 %1 | 53 | 66
Y \ 300 105 845 | Me4x2 | 175]| 6357 | 80 o3 | 66 | 71
- |
. e AN @ L Y
gz | Sl - 2-p =
Tt k| [ | N .
I .
| 20 42ZQIE Double-Thread Knuckle Joint -
C ] 1 H- @3 @% EHRlunit:mm
A e | . o FD(mm) | @E | KK Lo | N | N2 | R|F | v
T
oc 125 46 | M30X1.5 | 100 | 25 %" [32 47 | 64 % | 27 | 38 | 58
RT or 140 48 | M30X1.5 | 105 | 283" | 36 i | 72 3. | 30 | 88 | 58
T L+Stroke X KK Y - @ND 150,160 | 55 | M36x1.5 | 110 [ 327" [40 37| 80 %) | 34 | 40 | 64
TL.Stroke 17 180 70 | M4OX1.5 | 125 | 40 5" | 50 43 | 100, | 425 | 43 | 71
W T 200 70 | M45X1.5 | 125 | 40 9" | 50 43 | 1003, | 425 | 43 | 71
250 86 | M56X2 | 160 | 50 ¢° | 63 3i | 1265 | 53 | 47 | 79
F 300 105 | M64x2 | 175 | 63 27 | 80 &3 | 160, | 66 | 50 | 78
L
CHRlwnit:mm
I-D(mm) | Stroke Range| C | A | B | oC | @0 |@EA|@EB| H KK L | Lz N P(PD)| OT | T
125 ~1000 | 47 | 50 | 15 | 115] 35 | 59 | 90 | 43 | M30X1.5 | 98 | 159 | M14xX1.5 | 1/2 | 145 | 110 HE S[A¥ E Knuckle CLEVIS Type Pin SSknit:mm
140 1000 | 47 | 50 | 15 | 128 | 35 | 59 | 90 | 43 | M3OX1.5 | 98 | 159 | M14x1.5 | 1/2 | 161 | 110
150 1200 | 53 | 56 | 17 | 132 ] 40 | 59 | 90 | 43 | M36X1.5 | 106 | 173 | M16X1.5 | 3/4 | 170 | 120 FD(mm) | @0 | @d | L F T
160 1200 | 53 | 56 | 17 | 144 | 40 | 59 | 90 | 43 | M36X1.5 | 106 | 173 | MI6X1.5 | 3/4 | 184 | 120 _
180 1400 | 60 | 63 | 20 | 162 | 45 | 70 | 115 | 48 | M4OX1.5 | 111 ]190.5] MI8X1.5 | 3/a | 204 | 135 T T 2 2547 1285 72 | 643 | 135
200 ~1600 |60 | 63 | 20 | 182 | 50 | 74 | 115 | 48 | M45X1.5 | 111 |190.5 M20X1.5 | 3/4 | 226 | 135 120 2647 | 26 180.6 ] 72.8 | 1.6
250 ~1800 | 67 | 71 | 25 | 225 | 60 | 96 | 140 | 60 | M56X2.0 | 141 [230.5 M24xi.5 | 1 | 277 160 I 150,160 | 82 /% 1295 89.6 | 80.3 | 1.69
300 ~2000 76 | 80 | 30 | 270 | 70 | 96 | 140 | 60 | M64X2.0 | 146 | 248 | MB30X1.5 1 330|175 T sy e 180,200 | 40 %% | 37 |110.1] 1003 | 1.9
250 50 0% | 46 |138.9] 1265 | 2.2
F 300 63 00 | 59 |172.9] 1605 | 2.2
FD(mm) | RT | @TD | TL | TX | @TY| T2 | W =
125 50 | 323% | 208|170 | 164 | 234 | 35
140 55 | 3645 | 208 | 190 | 184 | 262 | 35
150 59 | 403% | 226 | 200 | 192 | 275 | 39
160 59 | 4038 | 226 | 212 | 204 | 292 | 39
45 EELE Rod nut e
200 60 | 4535 | 246 | 265 | 257 | 355 | 39
250 69 | 5645 | 301 | 335 | 325 | 447 | 49
300 79 | 673% | 321 | 400 | 390 | 534 | 49 « iy © bl AKX u
. 125,140 | 50.1 46 M30X1.5 | 18
150,160 | 635 | 55 M36X1.5 | 21
o 180 69.3 | 60 M4OX1.5 | 23
200 80.8 | 70 M45X15 | 27
‘ 250 98.1 85 M56X1.5 | 34
H 300 110 | 95 M6ax1.5 | 38
SAZHA| AT TS 156-11HX]

Tel. 051) 316-0224(ft)

N [ —D Fax. 051) 316-6006
DSPA (B)R—R% oo DSPA (H)F— 2%

E-mail. sungil0224@hanmail.net


USER
사각형


USER
사각형


DHAhn



DHAhn



DHAhn




JAI2IE [SL A|2|=  LARGE-SIZE ISL SERIES  ISL A|2|= LARGE-SIZE ISL SERIES

Double-rod Type S Bellows-Mounted Type

HA| 94 Indication of Model HA| 9 Indication of Model

ISL W g4 Type )( §24Z -Dmm) HE R XA mourting type 514 7 +-Dimm) #% | Soke Met3qLotend
(tw) (oo > {petarom) (a1, aom)— ariorne) (wme) (paroent—(atmanins - Cwtvoney) (3 5 - (3)-(@57 aerd
Refer o rrTeihoTi form_(‘jmnon :fgeneval ypeoflSL seres. w2 = SEBdlows-Mounted Type

. : JiLIO|Z EHERI60CT NylonTapauin
HAl7|Z Notation K:L|@E AT A1 0C NeopreneCross

QI8 X|$Z /7|28 Outside Dimension Drawings/Basic Type

Q¥ x|$E /7|28 Outside Dimension Drawings/Basic Type

KK
4N
K = e @
o
2P & : = 2P
— L T —— 3 s &
| <t| =
s
ol 6| ® \@ @ $ WH ‘
=
s | F W
; T+S L+Stroke
H TL+S+Stroke
T L+Strake T+Stroke
TL+(2xStroke)
2l unit:mm
&9l wit:mm -D(mm) oEE | F KK N Lol PeD | T L S W
FD(mm) | StrokeRange| C | A | B | T | @D |QEA|QEB| H KK L N P(PT) L 125 90 [ 40 | M30X1.5 | M14X1.5 98 1/2 133 231 35
125 ~1000 47 | 50 | 15 [110 | 35 | 59 | 90 | 43 | M30X1.5| 98 | M14X1.5 1/2 318 140 90 | 40 | M3OX1.5 | M14x1.5 | 98 1/2 | 183 | 231 | 35 |
140 ~1000 47 |50 | 15 |110 | 35 | 59 | 90 | 43 | M30X1.5| 98 | M14xi5 1/2 318 150 90 | 40 | M36X1.5 | MI6X1.5 | 106 | 3/4 141 247 02x | 89 |
150 ~1200 53 | 56 | 17 | 120 | 40 | 59 | 90 | 43 | M36X1.5| 106 | M16X1.5 3/4 346 160 90 | 40 | M36X1.5 | MI6XI.5 | 106 | 3/4 | 141 247 | strdefmm)| 39 |
160 ~1200 53 | 56 | 17 | 120 | 40 | 59 | 90 | 43 | M36X1.5| 106 | MI16X1.5 3/4 346 180 115 | 45 | M4OX1.5 | MI8X1.5 | 111 | 38/4 | 153 | 264 | 39 |
180 ~1400 60 | 63 | 20 | 135 | 45 | 70 | 115 | 48 | M40X1.5] 111 | MI8X1.5 3/4 381 200 15 | 45 | M45X1.5 | M20X1.5 | 111 | 8/4 | 153 | 264 39
200 ~1600 60 | 63 | 20 | 135 | 50 | 74 | 115 | 48 | M45X15| 111 | M20X1.5 3/4 381 250 140 | 55 | M56X2.0 | M24X1.5 | 141 ! 176 | 317 017x | 49 |
250 ~1800 67 | 71 | 25 | 160 | 60 | 96 | 140 | 60 | M56X2.0 | 141 | M24X1.5 1 461 300 140 | 55 | MB4X2.0 | M3O0X1.5 | 146 1 190 | 386 | strokefmm)| 49
300 —2000 76 | 80 | 30 | 175 70 | 96 | 140 | 60 | M64X2.0 | 146 | M30X1.5 1 496 HOlEH BAISHA 22 X4t (S 7|28 &%

Dimenson whichisn'tindcated is same wihgenerl ypeof ISL SERIES

SO AT TS 156-114X|
Tel. 051) 316-0224(ft)

DSIPA '~A” Fax. 051) 316-6006
(**)ﬁi -‘h‘¥. www.ds;a.co.kr ||S|"\ (**)ﬁ——-ﬁﬁ'

E-mail. sungil0224@hanmail.net



USER
사각형


DHAhn



DHAhn



DHAhn






